EViews output for Assignment #4 (full answer key will be posted Wednesday, March 24)

	Date: 03/10/10   Time: 15:01
	
	

	Sample: 1 500 IF EDUC<99 AND GEND=2

	
	
	

	
	
	

	
	INC
	EDUC

	
	
	

	
	
	

	 Mean
	 8774.418
	 12.53797

	 Median
	 6800.000
	 12.00000

	 Maximum
	 40000.00
	 16.00000

	 Minimum
	 34.00000
	 2.000000

	 Std. Dev.
	 7628.744
	 1.842997

	 Skewness
	 1.115827
	-1.747733

	 Kurtosis
	 4.054463
	 10.98100

	
	
	

	 Jarque-Bera
	 40.10678
	 499.7713

	 Probability
	 0.000000
	 0.000000

	
	
	

	 Sum
	 1386358.
	 1981.000

	 Sum Sq. Dev.
	 9.14E+09
	 533.2722

	
	
	

	 Observations
	 158
	 158

	
	
	


	Date: 03/10/10   Time: 15:03
	
	

	Sample: 1 500 IF EDUC<99 AND GEND=1

	        AND INC<100000

	
	
	

	
	
	

	
	INC
	EDUC

	
	
	

	
	
	

	 Mean
	 11279.77
	 12.11409

	 Median
	 9000.000
	 12.00000

	 Maximum
	 63492.00
	 16.00000

	 Minimum
	 103.0000
	 2.000000

	 Std. Dev.
	 9531.154
	 1.753492

	 Skewness
	 1.794302
	-1.970394

	 Kurtosis
	 9.051139
	 12.43962

	
	
	

	 Jarque-Bera
	 307.2775
	 649.6166

	 Probability
	 0.000000
	 0.000000

	
	
	

	 Sum
	 1680686.
	 1805.000

	 Sum Sq. Dev.
	 1.34E+10
	 455.0604

	
	
	

	 Observations
	 149
	 149


	Hypothesis Testing for INC
	

	Date: 03/10/10   Time: 15:04
	

	Sample: 1 500 IF EDUC<99 AND GEND=2 AND INC<100000

	Included observations: 158
	

	Test of Hypothesis: Mean =  11279.77
	

	
	
	
	

	
	
	
	

	Sample Mean =  8774.418
	

	Sample Std. Dev. =  7628.744
	

	
	
	
	

	Method
	Value
	Probability

	t-statistic
	-4.128044
	0.0001

	
	
	
	

	
	
	
	


	Hypothesis Testing for EDUC
	

	Date: 03/10/10   Time: 15:05
	

	Sample: 1 500 IF EDUC<99 AND GEND=2 AND INC<100000

	Included observations: 158
	

	Test of Hypothesis: Mean =  12.11409
	

	
	
	
	

	
	
	
	

	Sample Mean =  12.53797
	

	Sample Std. Dev. =  1.842997
	

	
	
	
	

	Method
	Value
	Probability

	t-statistic
	2.891024
	0.0044

	
	
	
	

	
	
	
	


Correlations

Full sample (EDUC<99 and INC<100000)

	
	EDUC
	INC

	
	
	

	
	
	

	EDUC
	 1.000000
	 0.045630

	INC
	 0.045630
	 1.000000


GEND=1

	
	EDUC
	INC

	
	
	

	
	
	

	EDUC
	 1.000000
	 0.059381

	INC
	 0.059381
	 1.000000




GEND=2

	
	EDUC
	INC

	
	
	

	
	
	

	EDUC
	 1.000000
	 0.069730

	INC
	 0.069730
	 1.000000
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Full sample, n=307

Scatterplot of Education and Earnings
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Males, n = 149
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Females, n = 158

Scatterplots of Education and Earnings


Question 2
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Correlation = -0.48
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